Do tn book

E. The fisherman can catch only fishes to
which the answers .ncql!l_,_IZ 13 and l4'
| Colmu the hshcs ved he catches,

MULTIPLICATION
A. erte T for True or F for False Lo cop j .
Ilal ilﬁ ﬂil uri written as repeated add1t10n s4+4+5 — 9
5 groups of 4 each means 5 x 4 I')
7+7+71sthesameas$><4\ 9
2t1mes5means2+2+2+2+2\ @

B. Multiply to find out the number of teeh each adult has. Do ¢n bo?!
@ §x4=-32 W 11x4- 44

2x8= 16— 2 3x10=30
@Q x2=_R ﬁ”lehﬁ

H @ .. w & .«




D. Circle your answe

5x3=_165
6 x 2= _D_—

I's as you find your way through the maze.

5x4=J§L
4 x 3 = \12

When do astronauts eat?

ALT
20| 10

Do rn ka
S5x17= 3 0 x 4= gé
9x5_.A:S_ 2)(7: I&
E. Multiply and use your answers to solve the riddle. Do ' book .
9gx0=_"0 3Ix9=_I%
U &
1 x 7= &E 6><6=_3.6_N
6x3=18 5x2=10
H T
* 7X6=ﬁ?:
LIAY [N|c [H TLUNME
42120 0 |36|27 |18 10|12 |40 | 7
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